
R0000164 Spindle Build

R0000164 spindle instructions

Introduction
Clear build instructions for the assembly of R0000164 spindle assembly

Medium 1 hour(s) Dif!culty  Duration

Contents

Introduction

Step 1 - Q/C all supplied parts

Step 2 - Ensure D0006016 and H0006011 Fit

Step 3 - Attach coupling M6 studding

Step 4 - Bearing dry !t and spacer adjustment

Step 5 - Final assembly of internal spindle unit

Step 6 - Add D0006016 to assembly

Step 7 - Dress Grubscrews to allow !tting

Step 8 - Fit internal spindle into housing

Step 9 - Leave Spindle to cool

Step 10 - Final adjustment

Step 11 - Fit belt pulley

Comments

Page 1 / 17



Step 1 - Q/C all supplied parts
Ensure all parts supplied are visually checked for damage such as burs or surface contamination

Report any issues to supervisor

D0006016 may be issued with surface rust . This should be cleaned with green scotchbrite pads as shown in photos to remove contamination





Step 2 - Ensure D0006016 and H0006011 Fit

...It is very important that this step is completely correctly and diligently, if these parts are not correct spindle assembly will be

highly problematic

1. The two parts should !t together in the indicated direction . It is crucial that this is a good !t, but not to tight that it hinders coupling

together. This assembly will have to be taken apart during assembly so this !t must be correct. If the h6011 does not !t into the D6016,

D6016 will require polishing

2. The indicated face should be polished gradually, to ensure the correct amount of material is removed for the correct !tment. Gently use

120 grit emery tape in a drill attachment to polish bore. Take gradual passes and increase size slowly

3. A small amount of copper slip should be added to the mating face on H6011 to ensure a material seize does not occur when mating the

two parts together

...Cleanliness is vital. any debris from the polishing process will cause the two parts to snag on assembly. ensure parts are

thoroughly cleaned with air before each trial !t is attempted

Page 2 / 17

https://stuga.dokit.app/images/thumb/f/f4/R0000164_Spindle_Build_Screenshot_2023-04-19_142512.png/ia-d7fac28d4ca79c63c1d0e06289e5cabc-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142512.png.png
https://stuga.dokit.app/images/thumb/b/b3/R0000164_Spindle_Build_Screenshot_2023-04-19_142518.png/ia-beb4e1a05daa24651bae5c9fb17b9cf5-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142518.png.png


Page 3 / 17

https://stuga.dokit.app/images/thumb/1/1c/R0000164_Spindle_Build_Screenshot_2023-04-19_142523.png/ia-062cb30ddc5619fbf5ba91ca0a28695c-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142523.png.png
https://stuga.dokit.app/images/thumb/b/b5/R0000164_Spindle_Build_Screenshot_2023-04-19_142534.png/ia-39aef5747fb98641d9e18c3b8ef64fd8-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142534.png.png




Step 3 - Attach coupling M6 studding
1. Cut a piece of M6 studding 47mm Long.

...Studding must be high tensile. This will be indicated by a yellow identi!cation on the end of the bar

2.Use loctite 270 and wind cut m6 stud into locating hole on tooling shaft

3. Hold tooling shaft as shown in vice

4. Lock 2 m6 nuts off against each other as shown to enable a 10mm spanner to be used to wind m6 studding tight into tooling shaft

5. once tight remove both M6 nuts

Page 4 / 17

https://stuga.dokit.app/wiki/Fichier:R0000164_Spindle_Build_Screenshot_2023-04-19_142539.png


Page 5 / 17

https://stuga.dokit.app/images/thumb/1/1a/R0000164_Spindle_Build_Screenshot_2023-04-19_142545.png/ia-629cf4bad80caeb41bf55b03dc88c0c8-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142545.png.png
https://stuga.dokit.app/images/thumb/a/a2/R0000164_Spindle_Build_Screenshot_2023-04-19_142552.png/ia-cb7529dcc056183f80459005c9f0a2ee-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142552.png.png
https://stuga.dokit.app/images/thumb/7/78/R0000164_Spindle_Build_Screenshot_2023-04-19_142556.png/ia-21d2b6893a48953b38daa6f977a54a4c-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142556.png.png






Step 4 - Bearing dry !t and spacer adjustment
1. Assembly bearings, inner and outer spacers and protection washer in the order shown onto H6011 shaft

...Ensure washer is orientated correct way

2. Screw D6016 down onto the assembly and tension .

3. Outer spacer now needs checking for resistance .Outer spacer should be able to move in the directions shown, but not fall under its own

weight when the assembly is held horizontally. If this is not the case, adjustment will be required

4. To adjust the !t of the outer spacer the following can be done

If outer spacer is to tight then it can be reduced in size to create friction

If outer spacer is to loose, inner spacer can be reduced in size to create the correct resistance

If the !t of the spacer is incorrect, remove from assembly and adjust the following way.

Use a piece of wet and dry around 800 grit and rotational polish appropriate spacer to reduce size slightly. Ensure both sides are polished to

reduce the chances of losing the parallel form of the spacer

...Only remove a small amount and re!t to see if the desired amount has been removed . It is very easy to over polish and remove to

much material

Once the desired !t has been achieved move the next step

Page 6 / 17

https://stuga.dokit.app/images/thumb/d/d4/R0000164_Spindle_Build_Screenshot_2023-04-19_142602.png/ia-ed8e4995f61338d975a96de2c877852c-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142602.png.png
https://stuga.dokit.app/images/thumb/7/70/R0000164_Spindle_Build_Screenshot_2023-04-19_142608.png/ia-6b0a1a4cfaf57172d1d4d47e827fc2be-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142608.png.png


Page 7 / 17

https://stuga.dokit.app/wiki/Fichier:R0000164_Spindle_Build_20230419_083715.jpg




Step 5 - Final assembly of internal spindle unit
1. Ensure all parts are thoroughly washed with FE10 to degrease and remove any debris

2. Use Loctite 641 Bearing retainer on all bearings

3. Apply only the shown amount of bearing retainer

...To much Bearing retainer can leak onto bearing seals and render a bearing unusable, and to little will provide inadequate adhesion

to the mating face for the bearing

4. Continue the assembly, adding the correct amount of bearing !t each time a bearing is added

5. Add Loctite 243 to m6 studding ready for coupling

6. Add a small amount of copper slip to indicated face to ease assembly

Page 8 / 17

https://stuga.dokit.app/images/thumb/6/62/R0000164_Spindle_Build_Screenshot_2023-04-19_142716.png/ia-68f61d4f4e7f4abbdbdd2f76718850ef-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142716.png.png
https://stuga.dokit.app/images/thumb/1/1b/R0000164_Spindle_Build_Screenshot_2023-04-19_142836.png/ia-e957aec4fe5b8efb0e0e66e482feb0e1-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142836.png.png


Page 9 / 17

https://stuga.dokit.app/images/thumb/3/36/R0000164_Spindle_Build_Screenshot_2023-04-19_142625.png/ia-c46dc954739a077d891408d35a87d245-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142625.png.png
https://stuga.dokit.app/images/thumb/b/bb/R0000164_Spindle_Build_Screenshot_2023-04-19_142631.png/ia-35a563a09a82c6df00e866f42fd68be9-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142631.png.png
https://stuga.dokit.app/images/thumb/0/04/R0000164_Spindle_Build_Screenshot_2023-04-19_142636.png/ia-2f115662dc5c3b570c66987e5ea3dc2b-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142636.png.png
https://stuga.dokit.app/images/thumb/7/78/R0000164_Spindle_Build_Screenshot_2023-04-19_142641.png/ia-1e7f4435d0b7d616bbd36030b41ab780-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142641.png.png


Step 6 - Add D0006016 to assembly
1. Use 2 m6 set bolts again to stop rotation of D0006016 when tightening assembly

2. Hold assembly in vice as shown

3. Use a 22mm spanner to tighten D0006016 onto bearing assembly

4. Once tight, check friction of spacer is still correct

5. Use Loctite 243 and !t 2 off M6 x 10 KCP (knurled cup point) grubscrews as shown . Tighten and mark as complete

Page 10 / 17

https://stuga.dokit.app/images/thumb/5/54/R0000164_Spindle_Build_Screenshot_2023-04-19_142646.png/ia-c34c264c0f906e886e67bf7f0a0c8b12-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142646.png.png


Page 11 / 17

https://stuga.dokit.app/images/thumb/a/a1/R0000164_Spindle_Build_Screenshot_2023-04-19_142701.png/ia-89b2b1c7e0faaea3bcbc43c24b5cb450-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142701.png.png
https://stuga.dokit.app/images/thumb/6/62/R0000164_Spindle_Build_Screenshot_2023-04-19_142716.png/ia-7345200c606a055a2302d49ceb88624f-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142716.png.png


Step 7 - Dress Grubscrews to allow !tting
1. Protect bearings from swarf created by wrapping masking tape around bearings and seals

2. Use a !le and then emery to dress grubscrews down to indicate level shown

Step 8 - Fit internal spindle into housing
1. Heat spindle housing with heat gun until suf!cient temperature is reached to allow the internal spindle assembly slide through with

minimal resistance.

2. Use a m8x 12 pointed grubscrew to locate onto the v of the spacer within the housing (See photos)

3. Fit !nal bearing to top of spindle housing, applying a smear of bearing !t to the inner and outer diameter of the bearing.

4. Ensure the bearing sits below face indicated 7 when !tted

Page 12 / 17

https://stuga.dokit.app/images/thumb/5/50/R0000164_Spindle_Build_Screenshot_2023-04-19_142737.png/ia-322afe7296224649e7e5d1a260995e12-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142737.png.png
https://stuga.dokit.app/images/thumb/b/b3/R0000164_Spindle_Build_Screenshot_2023-04-19_142743.png/ia-d680793532224667b5bcda75c9c7f1e0-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142743.png.png


Page 13 / 17

https://stuga.dokit.app/images/thumb/c/c2/R0000164_Spindle_Build_Screenshot_2023-04-19_142721.png/ia-eb14cc12fe8275ac3851f6d58c81f667-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142721.png.png
https://stuga.dokit.app/images/thumb/6/6a/R0000164_Spindle_Build_Screenshot_2023-04-19_142755.png/ia-f9f82923c05cf504cbb80ffdf32282f1-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142755.png.png


Page 14 / 17

https://stuga.dokit.app/images/thumb/1/1b/R0000164_Spindle_Build_Screenshot_2023-04-19_142836.png/ia-e6e293f5c5922437d530479b4609ab5f-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142836.png.png
https://stuga.dokit.app/images/thumb/a/af/R0000164_Spindle_Build_Screenshot_2023-04-19_142748.png/ia-d95f6fadd4ddb971d7ac0c2c7a6cdfe8-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142748.png.png




Step 9 - Leave Spindle to cool

...This is crucial for correct adjustment

Spindle must be left until stone cold before !nal adjustments are

made

Step 10 - Final adjustment
1. Remove pointed m8 grubscrew, Use Loctite 243 and retighten and mark as !nished

2. Add M8 x 8 grubscrew with Loctite 243 to position 2 to act as a blanking screw and mark as !nished

3. Now rotate the spindle by hand. Movement should be consistent, with no tight spots and fairly easy to turn by hand. Using a copper

section of a hammer , applied a small impact in the directions show to settle the internal assembly into its natural state

4. Double check pointed grubscrew is still tight

Page 15 / 17

https://stuga.dokit.app/wiki/Fichier:R0000164_Spindle_Build_Screenshot_2023-04-19_162042.png
https://stuga.dokit.app/images/thumb/d/d9/R0000164_Spindle_Build_Screenshot_2023-04-19_142815.png/ia-5b30b26cee220e7b8a5a909f407eec66-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142815.png.png
https://stuga.dokit.app/images/thumb/e/e4/R0000164_Spindle_Build_Screenshot_2023-04-19_142820.png/ia-c8254f82964b77349a8a0082da24f682-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142820.png.png


Step 11 - Fit belt pulley
1. Use 2 off M6 x 6 pointed grubscrews with Loctite 243 to mount belt pulley to the spindle.

2. Mark bolts as complete

Page 16 / 17

https://stuga.dokit.app/images/thumb/d/d7/R0000164_Spindle_Build_Screenshot_2023-04-19_142808.png/ia-e6f775530e92c6c082934aa10dcb6fa1-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142808.png.png


Page 17 / 17

https://stuga.dokit.app/images/thumb/c/c4/R0000164_Spindle_Build_Screenshot_2023-04-19_142824.png/ia-bba04a91e4697b1d63d6b8b3681fa33c-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142824.png.png
https://stuga.dokit.app/images/thumb/d/da/R0000164_Spindle_Build_Screenshot_2023-04-19_142828.png/ia-f809271773276ac120e28c6be3d72456-1000px-R0000164_Spindle_Build_Screenshot_2023-04-19_142828.png.png

	R0000164 Spindle Build
	Contents
	Introduction
	Step 1 - Q/C all supplied parts
	Step 2 - Ensure D0006016 and H0006011 Fit
	Step 3 - Attach coupling M6 studding
	Step 4 - Bearing dry fit and spacer adjustment
	Step 5 - Final assembly of internal spindle unit
	Step 6 - Add D0006016 to assembly
	Step 7 - Dress Grubscrews to allow fitting
	Step 8 - Fit internal spindle into housing
	Step 9 - Leave Spindle to cool
	Step 10 - Final adjustment
	Step 11 - Fit belt pulley


